Model with Rebar:
inc=10000
Beam Loading: Static; 0.01,1E-08,1

=] File Model Viewport Wiew Job  Adaptivity  Tools  Plug-ins  Help  R?

DEES e BN EARN s @R
| Module: | Job B v Sten:

M time_increment Monitor

lob: time_increment  Status: Aborted

Severe
Step Increment ALt Discon
Iter

]

Equil Total Total Step Time,/LPF
Iter Iter Time,/Freq Time/LPF Inc

0.01
0.0025
0.000625
0.00015625
3.906252-05

i
2U
au
4U
su

Log | VErrors | DWarrings || Cukput |
Wiew Result Files
Tao many attempts made For this increment
Abaqus/Standard Analysis exited with an error - Please see the message file for possible error
messages if the file exists,

]

e
e
o o o o

(3, ISR N |
(3, ISR N |
o o o o

o o o o o

0 [ Loads (3)
# [5 BCs (3)
- [la Predefined Fislds
- Remeshing Rules
ﬂb Sketches
A annotations
933 Analysis

28 10bs (1)

SR i

lﬁa Adaptivity Processes




Model with Rebar:
inc=1000
Beam Loading: Static; 0.1,1E-05,1

..... H H H loading

M time_increment Moniton

Job: time_increment  Staktus: Aborted

fa)

HIEE Equil Total Total Step Time,/LPF i
Ty | e AL Discon Iter Iter Time,/Freq Time/LPF Inc L:J
Iter ]
1 1 1 o =1 5 a a 0.1
1 1 2U o =1 5 a a 0.025
1 1 a3 o 4 4 a a 0.00625
1 1 4U o 7 7 a a 0.0015625
1 1 =] o 4 4 a a 0.000390625

|E| lErrors | Dwarnings | Output |

Yiew Result Files

Too many aktempts made For this increment _

Abaqus/standard Analysis exited with an error - Please see the message file for possible error
messages if the file exists,

[ Loads (3
[ BCs 63
fs Predefined Fields
: Remeashing Rules
Y sketches
~f annotations
Elig Analysis
= & 10bs (1)
N v ement (Aborked)
lﬂ@ Adaptivity Processes




Model without Rebar:
inc=1000
Beam Loading: Static; 0.1,1E-05,1

H:onv 8

i lob: time_increment  Stakus: Aborted
| e mcrement me Dicon G Tt et o ste  Tmene
2 El i u] 4 4 1.40045 0400452 0.0066741
2 El 2 o 1 1 1.40215 0.402151 0.0016685
2 10 1 u] 4 4 1.40215 0402151 0.0025028
2 10 2 u] 2 z 1.40275 0.402776 0.0006257¢
z 11 1 u] 1 1 1.40372 0.403715 0.00093555
il 2 12 i u] 4 4 1.40372 0.403715 0.0014075
afl 2 12 2U u] 4 4 1.40372 0.403715 0.0003519%
2 12 3 o 3 3 1.4038 0.403803 8.,79899%-C
5 2 13 1 u] -] ] 1.4038 0.403803 0.0001319
q 2 13 2 u] 1 1 1.40354 0.403536 3.29962e-C
b z 14 1 u] 1 1 1.40359 0.403555 4,949435e-C
2 15 i u] 4 4 1.40359 0.403855 7.42414e-C
Hi 2 15 2U u] 4 4 1.40359 0.403855 1.85604e-C
2 15 3u o 4 4 1.40389 0.403885 1e-05 ;
| 3
15 —
I Errars | Vwarnings | Output |
Vigw Result Files
Time increment required is less than the minimum specified
Abaqusstandard Analysis exited with an error - Please see the message Ffile For possible error
messages iF the file exists,




Model without Rebar:
inc=10000
Beam Loading: Static; 0.1,1E-08,1

el 2 TR = E W = - [ L

_| Module: |Job v| Model: |Model-1 v| Step: |c0|umn loading v|

E - time_increment Monitor, :”: r>__<|

1

Job: time_increment Status:  Aborted

E Severe . ; ~ =]

; HiEp || MEEmErd | G D;:;‘:“ Iil:::l Tl‘tjttafl Tin::;l?:eq Tins'l't::l’l:_PF ) Tlrr;ﬁiLPF | H o

il = 21 1 o 3 3 1.40389 0.403539 2.0645%e-07 o

&l = 22 1 o 3 3 1.40389 0.40359 3.0965%-07 o}

- z 23 jiuj o 4 4 1.40359 0,40359 +4.64533e-07 ]

i = 23 2 o 3 3 1.40389 0.40359 1.16133e-07 o

f = 24 1 o 2 2 1.40389 0.40359 1.742e-07 o

‘I( = 25 i o 4 4 1.40389 0.40359 2.613e-07 o

Ey = 25 2 o 2 2 1.40389 0.40359 6,5325e-05

E = 26 i o 4 4 1.40389 0.40359 9.79574e-05

i = 26 2 o 2 2 1.40389 0.40359 2.44969e-05

:; = 27 1 o 2 2 1.40389 0.40359 3.67453e-05

5 2 28 1 1] 4 4 1.40389 040389 5.51179-08

i = 28 2 o 2 2 1.40389 0.40359 1,37795e-05 o}

d: = 29 1 o 2 2 1.40389 0.40359 2.06692e-05 )
2 30 1 1] 4 4 1.40389 0.40389 3.10038e-08 o

4 = 30 2U o 4 4 1.40389 0.40359 1e-03 E o

)

b E Errars | ! 'Warnings || Qutpuk |
3 Yiews Result Files

Time increment required is less than the minimum specified _
| | AbaqusyStandard Analysis exited with an error - Please ses the message fils for possible error messages

8 | | thefile exists.
i

oo

SInLy

Me_incremsn O ETTOrs.

b input file "time increment . inp" ha= been submitted for analysis.

e_increment : Analysis Input File Processor completed successfully.

in job time_ increment: Time increment required i= less than the minimun specified

Me_increment ;. Abagqus-Standard aborted due to errors.

in job time_ increment: Abagqus-Standard Analw=i= exited with an error — Please see the mnessage file for possible error messages if the file
me_increment aborted due to errors.

b input file "time increment . inp" has been submitted for analysis.

me_increment ;. Analysis Input File Processor completed successfully.

in job time_ increment: Time increment required i= less than the minimun specified

.me_increment ;. Abaqus-Standard aborted dus to errors.

in job time_ increment: Abagqus-Standard Analw=i= exited with an error — Please see the mnessage file for possible error messages if the file

me_increment aborted due to errors.




